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Quistion 1                                                                                                    (5 marks) 

A solid shaft of 150 mm diameter is used to transmit torque. Find the maximum torque 

transmitted by the shaft if the maximum shear stress induced to the shaft is 45 N/mm
2
. 

 

Quistion 2                                                                                                    (7 marks) 

The 20 mm diameter A-36 steel shaft is subjected to torques shown in figure. Determine 

the angle of twist of the end B. (take G = 75 Gpa). 
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Quistion 3                                                                                                    (8 marks) 

 Find the torque reaction at ends A and B, for50 mm diameter steel shaft loaded as 

shown in figure.  

  

    

 

 

 

 

 


